
Bachelor of Arts (B.A.) 
Department of Hindi 

Programme Outcomes (POs) 
After completing B. A. degree programme, students will be able to:  

PO 1: Realize and follow eternal human values.  

PO 2: Become a responsible and dutiful citizen.  

PO 3: Acquire scientific temperament and ability to think logically.  

PO 4: Nurture creativity in arts as well as in day-to-day life.  

PO 5: Get well acquainted with the social, economic, political, historical and  

          Geographical facts and trends in India as well as in the world.  

PO 6: Get acquainted with and respect the common cultural heritage of   

          pluralism and mutual respect.  

PO 7: Respect core constitutional values like equality, social justice secularism  

          and scientific approach.  

PO 8: Prepare for and qualify all types of competitive examinations after      

           graduation.  

PO 9: Take keen interest in language and literature, both regional and global. 

PO 10: Acquire basic language skills like listening, speaking, reading and  

            writing.  

PO 11: Communicate thoughts and ideas fluently and effectively in formal and  

            Informal situations. 

 

 

 



 

 

 

 

 

 

 

 

 

 

Program Specific Outcomes (PSOs) 
 

B. A. I Year Hindi Optional  

 
lkfgR; txr] fganh xn~; lkfgR; iz�ui= 1 vkSj 2 
Co1 % Nk=ksa dks lkfgR; dh fofo/k fo/kkvksa dk ifjp; gqvkA 
CO2 % fnanh ds izfrfuf/k xn~;dkjksa ,oa dfo;ksa ls Nk= izHkkfor gq,A 
CO3 % fganh Hkk’kk ds Jo.k iB.k ,oa ys[ku dkS”ky Nk=ksa esa fodflr gqvkA 
CO5 % fuca/k] dgkuh] ,dkadh] js[kkfp=] fjiksrkZt] laLej.k] O;aX; vkfn fo/kkvksa ds vkfn fo/kkvksa ds  
 Ekk/;e ls Nk=ksa dk HkkokRed fodkl gqvkA 
CO6 % uSSfrd ewY;k] jk’Vªh; ewY; ,oa mŸkjnkf;Ro ds izfr vkLFkk Nk=ksa esa fuekZ.k gqbZA 
CO7 % jk’Vª ds izfr izse] jk’Vªh; ,sD; LFkkiuk,os lkekftd izfrcn~/krk Nk=ksa esa tkx`r gqbZA 
CO8 % Nk=ksa dh fopkj {kerk rFkk dYiuk”khyrk dks c<kok feykA 
 
B. A. II Year Hindi Optional  

 

Ikz�ui= & 3 vfLerkewyd foe�kZ vkSj fganh xn~; ;kfgR; 
CO9   % Nk=ksa dks dFkk lkfgR; dk ifjp; gqvkA 
CO10 % Nk= dFkk lkfgR; ds Lo:Ik rRo ,oa izdkjksa ls voxr gq,A 



CO11 % Nk=ksa dks leh{kk ekunaM ds vk/kkjij dFkklkfgR; dk vdyu gqvkA 
CO12 % Nk=ksa dks dFksRrk lkfgR; dk leh{kkRed ifjp; gqvkA 
CO13 % Nk= dFksRkj lkfgR; ds Lo:i] RkRo ,oa izdkjksa ls voxr gq,A 
CO14 % Nk=ksa dks dFkk vkSj dFksrj lkfgR; dh orZeku izklafxdrk dk Kku izkIr gqvkA 
 
Ikz�ui= 4 fganh lar dkO; rFkk jk’Vªh; dkO; /kkjk  
CO15 % fganh lkfgR; ds izfr Nk=ksa dh :ph c< xbZA 
CO16 % Nk=ksa dks dFkk lkfgR; dh fofo/k fo/kkvksa dk ifjp; gqvkA  
CO17 % e/;dkyhu fganh dfo;ksa ds ifjp; ls Nk= izHkkfor gq,A 
CO18 % Nk=ksa dks uSfrd ewY;] jk’Vªh; ewY; ,oa mŸkjnkf;Ro dk ifjp; gqvkA 
CO19 % Nk= v/kqfud fganh dfork esa fpf=r fofo/k oe’kZ ls voxr gq,A 
CO20 % fganh lar dkO; ls Nk=ksa dk ifjp; gqvkA 
 
 
Ikz�ui= 5 & jkstxkj ijd fganh 
CO21 % Nk=ksa esa fganh esa dk;Z djus dh {kerk] dYiuk ,oa :fp fodflr gqbZ 
CO22 % Nk=ksa esa jkstxkjksUeq[k f”k{kk o dkS”ky dk fodkl gqvkA 
CO23 % i=kpkj ds Lo:Ik dk ifjp; Nk=ksa dks gqvkA 
CO24 % Nk=ksa esa fganh Hkk’kk ds Jo.k] iB.k] o ys[k dkS”ky dk fuekZ.k gqvkA 
CO25 % Nk=ksa dk O;ogkfjd fganh ls ifjp; gqvkA 
CO26 % jkstxkjksUeq[k {ks= ls Nk=ksa dk ifjp; gqvkA 
 
Ikz�ui= 6 & vfLerkewyd foe�kZ vkSj fganh in~; lkfgR; 
CO27 % Nk= fganh dfo;ksa ls ifjfpr gq,A 
CO28 % Nk=ksa esa fganh Hkk’kk ds Jo.k] iB.k o ys[ku dks c<kok feykA 
CO29 % Nk=ksa esa fganh Hkk’kk ds izfr :fp fuekZ.k gqbZA 
CO30 % Nk=ksa dks uSfrd ewY;] jk’Vªh; ewY; ,oa mŸkjnkf;Ro ds izfr vkLFkk fuekZ.k gqbZA 
CO31 % lkfgR; dh fofo/k in~; fo/kkvksa dks Nk=ksa dks ifjp; gqvkA 
CO32 % Nk=ksa dks lkfgR; dh fofo/k in~; fo/kkvksa dk ifjp; gqvkA 
CO33 % vk/kqfud fganh in~; esa fpf=r fofo/k foe”kksZa ls Nk= voxr gq,A 

 

B.A III Year Hindi (Speial) 

Ikz”ui= VII & XII & fo/kk fo”ks’k dk v/;;u  
 
ikB~;iqLrd *fnYYkh Åapk lqurh gS* ¼UkkVd½ & dqLkqe dqekj] *vafre lk{; ¼miU;kl½ & panzdkark 
CO34 % UkkVddkj dqlqe dqekj dh cgqeq[kh izfrHkk ls rFkk muds lkfgR; ls Nk= ifjfpr gq,A 
CO35 % UkkVddkj dqlqe dqekj dh fopkj/kkjk ls Nk= izHkkfor gq,A 
CO36 % UkkVddkj dqlqe dqekj ds fu/kkZfjr xzaFk dk vkykspukRed v/;;u gqvkA 
CO37 % ukVddkj ds :Ik esa dqlqe dqekj dk lkfgfR;d LFkku fuf”pr fd;kA 



CO38 % miU;kldkj panzdkark ds cgqeq[kh izfrHkkls Nk= ifjfpr gq,A 
CO39 % panzdkar ds fopkjksa ls Nk= izHkkfor gq,A 
CO40 % Nk=ksa us panzdkark ds fu/kkZfjr xzaFk dk vkykspukRed v/;u fd;kA 
CO41 % miU;kl ds :Ik esa panzdkark dk lkfgfR;d LFkku fu/kkZfjr fd;k x;kA 
 

Ikz”ui= VIII & XIII & LkkfgR;”kkL= 
CO42 % lkfgR; fufeZfr dh izfØ;k ls Nk= Kkr gq,A 
CO43 % lkfgR; ds fofHkUUk vaxksa] Hksnksa ls Nk=ksa dk ifjp; gqvkA 
CO44 % lkfgR; dh uohu fo/kkvksa ls Nk= voxr gq,A 
CO45 % leh{kkfln~/kkarksa dk Nk=ksa dks Kku gqvkA 
CO46 % Nk=ksa dks lkfgR; ds rRoksa dh tkudkjh gqbZA 
CO47 % vayadkjksa ,oa Nanksa ls Nk=ksa dk ifjp; gqvkA 
 
 

Ikz”ui= IX & XIV & fganh lkfgR; dk bfrgkl 
CO48 % fganh Hkk’kk rFkk lkfgR; ls Nk=ksa dk ifjp; gqvkA 
CO49 % fganh lkfgR; dh fodkl ;k=k ls Nk= ifjfpr gq,A 
CO50 % fganh lkfgR; dh fodkl ;k=k esa fofHkUu fopkj/kkjk ,oa izof̀Ÿk;ksa ls Nk= ifjfpr gq,A 
CO51 % lkfgR; le>us] mldk vLoknu djus dh {kerk Nk=ksa esa vk xbZA 
CO52 % lkfgR; ds lanHkZ esa fofHkUu lkfgfR;d fo/kkvksa dsa fodkl Øe dh Nk=ksa dks tkudkjh gqbZA 
CO53 % ;qxhu lkekftd] jkTkuhfrd ifjfLFkfr;ksa dk Nk=ksa dks ifjp; gqvkA 
 

Ikz”ui= X & XV & Ikz;kstu ewyd fganh 
CO54 % fganh esa dk;Z djus dh :fp Nk=ksa esa fodflr gks xbZA 
CO55 % jkstxkjksUeq[k f”k{kk rFkk dkS”ky dk fodkl gqvkA 
CO56 % IkkfjHkkf’kd “kCnkoyh ls Nk= ifjfpr gq,A 
CO57 % ljdkjh i=kpkjksa ds :iksa dh tkudkjh Nk=ksa dks feyhA 
CO58 % TkulaPkkj ,oa bysDVªkWfud ek/;eksa ls Nk= ifjfpr gq,A 
CO59 % vuqokn Lo:i] egRo o mi;ksfxrk dk Nk=ksa dks ifjp; gqvkA 
CO60 % jkstxkjijd fganh dh mi;ksfxrk Nk=ksa esa Li’V gqbZA 
 

Ikz”ui= XI & XVI & Hkk’kk foKku vkSj fganh Hkk’kk 
CO61 % Hkk’kk ds fofo/k :iksa dk Nk=ksa dks Kku izkIRk gks x;kA 
CO62 % fganh Hkk’kk ds O;kdj.k ls Nk= voxr gq,A 
CO63 % Nk=ksa dks Hkk’kk foKku dk lkEkkU; ifjp; izkIr gqvkA 
CO64 % Nk=ksa dks fganh Hkk’kk] fyfi ds mn~Hko vkSj fodkl dk Kku izkIr gqvkA 
CO65 % Hkk’kk dh “kqn~/krk ds izfr Nk= tkx:d gq,A 
CO66 % Ekkud fganh orZuh ls Nk= vkoxr gq,A 
CO67 % Hkk’kk foKku dk lkekU; ifjp; Nk=ksa dks izkIr gqvkA 
 
 



 
 

 

 

 

 

 

 

 

 

 


